
FUUJSIN]$]N$ "//&-%)6 L$M N$$QTHFQ$RJRTWFSIZR

1$>7$1$

$
$

$ Xhmttq$Inxywnhy$St2$96$,Uwnshj$Wzujwy-$

$

$ FIIJSIZR$ST2$5$1$UFLJ$5$

$

$ \FLJ$XHMJIZQJ$

$
$ HQFXXNKNHFYNTS$ $ $ $ $$$$$$$$45$Ozq~$6454$
$
Xyzijsy$\twpjw$ $ $ $ $ $ 5827<$
$

Gfxj$Wfyj$c$Qfgtzwjw$ $ $ $ $ $ 5=288$
$

Hzxytinfs$q$,xyfwynsl$wfyj-$ $ $ $ $ 5=2<<$
$

Hzxytinfs$qq$,fkyjw$7$rtsymx-$ $ $ $ $ 5=2>>$
$

Hzxytinfs$qqq$,fkyjw$;$rtsymx-$ ,Wjlzqfw$Hzxytinfs-$ $ 5>267$
$

Mjfi$Hzxytinfs$ $ $ $ $ $ 5>29<$
$

Mjfi$Hzxytinfs$|nym$&G&$Ynhpjy$ $ $ $ 642<8$
$

Mjfi$Hzxytinfs$|nym$&F&$Ynhpjy$ $ $ $ 642>5$
$

Ktwjujwxts$1$Hzxytinfs$ $ $ $ $ 662==$
$

Rfnsyjsfshj$N$ $ $ $ $ $ $ 5>2<4$
$

Rfnsyjsfshj$NN$$ $ $ $ $ $ 64295$
$

Rfnsyjsfshj$NNN$ $ $ $ $ $ 642=5$
$

Ywfijxujwxts$Zshjwynknji$ $ $ $ $ 66295$
$

Ywfijxujwxts$YV$1$Htruzyjw$Yjhm3Rjhmfsnhfq$ $ 6<25;$
$

Ywfijxujwxts$YV$1$Jqjhywnhnfs$ $ $ $ $ 6<25;$
$

Ywfijxujwxts$YV$1$Uqzrgjw$ $ $ $ $ 6<25;$
$

Ywfijxujwxts$YV$1$M[FH$ $ $ $ $ 6<25;$
$

Ywfijxujwxts$YV$1$Hfwujsyjw$ $ $ $ $ 6<25;$
$

Ywfijxujwxts$YV$1$Ufnsyjw$ $ $ $ $ 6<25;$
$

Ywfijxujwxts$YV$c$Hfwujsyjw3Ufnsyjw$$ $ $ 6<25;$
$

Ktwjujwxts$1$Rfnsyjsfshj$ $ $ $ $ 6=2<4$
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FUUJSIN]$]N$ "//&-%)6 L$M N$$QTHFQ$RJRTWFSIZR

1$>8$1$

$

$

$ Xhmttq$Inxywnhy$St2$96$,Uwnshj$Wzujwy-$

$ $$\FLJ$XHMJIZQJ$$

Htsxtqnifyji$Uf~$Jvzny~$Uf~$Xhfqj$

Jkkjhyn{j$Ozq~$50$6454$

$

Uf~$Gfsi$ Otg$Ynyqj$

Knwxy$=$

Rtsymx$

,Xyju$5-$

Fkyjw$=$Rtsymx$

,Xyju$6-$

Uf~$Gfsi$5$
Xhmttq$Rjfqx$Uwtlwfr$\twpjw$5$
Fhhtzsyx$Hqjwp$

(5<2<4$ (5>268$

$ $ $ $

Uf~$Gfsi$6$

Qngwfw~$Fxxnxyfsy$Wjxtzwhj$Hjsywj$
Fyyjsifshj$Hqjwp3Xjhwjyfw~$
Yjfhmjw$Fxxnxyfsy$5$,Gnqfslzj-$
Qngwfw~$Fxxnxyfsy$5$

(5=294$ (64255$

$ $ $ $

Uf~$Gfsi$7$

Yjfhmjw$Fxxnxyfsy$Hqjwnhfq$
Qngwfw~$Fxxnxyfsy$6$
Qngwfw~$Fxxnxyfsy$,Wjxtzwhj$Hjsywj$*$YTH$

Inxufyhm-$
Qngwfw~$Fxxnxyfsy$5$,Gnqfslzj-$
Xhmttq$Rjfqx$Uwtlwfr$\twpjw$6$
Fgtwnlnsfq$Jizhfynts$Xjhwjyfw~$

(5>26>$ (642><$

$ $ $ $

Uf~$Gfsi$8$

Qfgtwfytw~$Fxxnxyfsy$
Yjfhmjw$Fxxnxyfsy$6$,Gnqfslzj-$
Qngwfw~$Fxxnxyfsy$6$,Gnqfslzj-$
Xyzijsy$Xjw{nhjx$Xjhwjyfw~$,Xjhwjyfw~$5-$
Xjhwjyfw~$5$,Wjhjuynts3Fhhtzsyx$Hqjwp-$
Fgtwnlnsfq$ Jqjrjsyfw~$ Uwtlwfr$ Wjxtzwhj$

\twpjw$
Hmnqihfwj$\twpjw$5$
Fgtwnlnsfq$Pnsijwlfwyjs$Wjx$\twpjw$5$
Pnsijwlfwyjs$Wjxtzwhj$\twpjw$5$
Xyzi~$Hjsywj$\twpjw$5$
Fhyn{nynjx$Httwinsfytw$

(6424=$ (652=7$

$ $ $ $

$ $
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1$>9$1$

Uf~$Gfsi$ Otg$Ynyqj$

Knwxy$=$

Rtsymx$

,Xyju$5-$

Fkyjw$=$Rtsymx$

,Xyju$6-$

Uf~$Gfsi$9$

Htrrzsny~$Xhmttq$Uwtlwfr$Fxxnxyfsy$
Hmnqihfwj$\twpjw$6$
Xyzijsy$Xzuutwy$Xjw{nhjx$Xjhwjyfw~$
Hmnqihfwj$\twpjw$,Mjfwnsl-$
Hmnqihfwj$\twpjw$,[nxzfq-$
Hmnqihfwj$\twpjw$,Xujjhm$Qfslzflj$

Fxxnxyfsy-$
Hmnqihfwj$\twpjw$,Fruqnknhfynts$Fxxnxyfsy-$
Fgtwnlnsfq$Pnsijwlfwyjs$Wjxtzwhj$\twpjw$6$
Pnsijwlfwyjs$Wjxtzwhj$\twpjw$6$
Xyzi~$Hjsywj$\twpjw$6$
Xjsntw$Fhhtzsyx$Hqjwp3Uf~wtqq$
Gz~jw3Htruzyjw$Yjhmsnhnfs$

(642==$ (662<5$

$ $ $ $

Uf~$Gfsi$;$

Xjsntw$Wjxtzwhj$Hjsywj$Hqjwp$
Fgtwnlnsfq$Kfrnq~$Wjxtzwhj$\twpjw$
Ywfijx$c$Htruzyjw$Zshjwynknji$
Uf~wtqq3Inxufyhm$
Uf~wtqq$Hqjwp$
Hmnqihfwj$\twpjw$,Fzynxynh-$
Hmnqihfwj$\twpjw$,Um~xnhfqq~$Ijujsijsy-$
Xyzijsy$Xzuutwy$Xjw{nhjx$Xjhwjyfw~$,Inxywnhy-$

(652;>$ (6729;$

$ $ $ $

Uf~$Gfsi$<$

Xhmttq$Xjhwjyfw~$6$
Xhmttq$Xjhwjyfw~$7$
Hmnqihfwj$ \twpjw$ ,Nsyjsxn{j$ Gjmf{ntzw$

Xzuutwy-$
Htrrzsny~$Xhmttq$Httwinsfytw$
Firnsnxywfyn{j$Xjhwjyfw~$

(6628;$ (68286$

$ $ $ $

Uf~$Gfsi$=$ St$Hzwwjsy$Utxnyntsx$ (6726=$ (69275$

$ $ $ $

Uf~$Gfsi$>$ Htruzyjw$Yjhmsnhnfs$ (68249$ (6;258$

$

$ $
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